	____ 1.	The term "homeostasis" comes from two Greek words meaning 


	A)	before and after. 	D)	the environment and populations. 


	B)	health and disease. 	E)	the same and standing. 


	C)	human and nonhuman. 








	____ 2.	The function of sensors in homeostatic mechanisms is to 


	A)	detect internal and external changes. 


	B)	make responses to the environment. 


	C)	transfer genetic information. 


	D)	serve as predators in the environment. 


	E)	store information in the brain. 








	____ 3.	The function of glucose in the blood is mainly as a(n) 


	A)	abnormal hormone. 	D)	source of stress. 


	B)	cell process. 	E)	vitamin. 


	C)	energy source. 








	____ 4.	An example of ecosystem homeostasis is 


	A)	blood sugar concentration. 


	B)	cellular stability. 


	C)	constant temperatures in the human body. 


	D)	prey-predator relationships. 


	E)	temperature changes on the planet. 








	____ 5.	New species can arise through a process called 


	A)	evolution. 	D)	metabolism. 


	B)	geocentrics. 	E)	thermodynamics. 


	C)	homeostasis. 








	____ 6.	There are ________ different kingdoms of living organisms that exist today. 


	A)	two    B)  three    C)  four    D)  five    E)  six 








	____ 7.	The largest unit of the following is the 


	A)	atom.    B)  cell.    C)  ecosystem.    D)  molecule.    E)  population. 








	____ 8.	The smallest unit of the following is the 


	A)	atom.    B)  cell.    C)  organ.    D)  molecule.    E)  population. 








	____ 9.	The ability to receive and respond to stimuli is called 


	A)	budding. 	D)	metabolism. 


	B)	genetic variation. 	E)	natural selection. 


	C)	irritability. 








	____ 10.	Select the incorrect association. 


	A)	adaptation/functional change 	D)	emphysema/predation 


	B)	budding/asexual reproduction 	E)	environment/selective agent 


	C)	catabolism/releases energy 








	____ 11.	Evolution is something that occurs in 


	A)	atoms. 	D)	populations. 


	B)	molecules. 	E)	tissues. 


	C)	individual organisms. 








	____ 12.	Culture refers to each of the following for a population except 


	A)	customs.    B)  genes.    C)  ideas.    D)  skills.    E)  values. 








	____ 13.	In the scientific method, a(n) _________ is a tentative explanation of a phenomenon. 


	A)	hypothesis    B)  law    C)  natural law    D)  observation    E)  theory 








	____ 14.	The term "science" comes from the Latin word that means to 


	A)	change.    B)  discover.    C)  know.    D)  reproduce.    E)  vary. 








	____ 15.	In the scientific method, the final step is the development of a(n)


	A)	declaration.    B)  hypothesis.    C)  observation.    D)  theory.    E)  variation. 








	____ 16.	An individual who supported through experiments that spontaneous generation did not occur was 


	A)	Aristotle.    B)  Darwin.    C)  Leeuwenhoek.    D)  Pasteur.    E)  Ptolemy. 








	____ 17.	The statement that the Earth is the center of the universe is the ________ theory. 


	A)	geocentric 	D)	solar 


	B)	heliocentric 	E)	thermodynamic 


	C)	homeostatic 








	____ 18.	A characteristic not present in all living things is: 


	A)	anabolism. 	D)	irritability. 


	B)	catabolism. 	E)	sexual reproduction. 


	C)	homeostasis. 








	____ 19.	In an experiment, the experimental group is the one that is 


	A)	composed of ten to twenty organisms. 


	B)	manipulated in some way. 


	C)	not studied in the experiment. 


	D)	not tested in the experiment. 


	E)	treated similarly to the control group. 








	____ 20.	A requirement that is not one involved in critical thinking is to 


	A)	examine the big picture. 


	B)	expect all of the answers. 


	C)	look for multiple causes and effects. 


	D)	question the source of the facts. 


	E)	watch for thought stoppers. 








	____ 21.	Humans can survive independently of what happens in nature. 


	A)	True   B)  False








	____ 22.	"Dynamic equilibrium" is a more accurate way of describing homeostasis than the phrase "external constancy." 


	A)	True   B)  False








	____ 23.	Homeostasis is a term that is applicable only to individual organisms. 


	A)	True   B)  False








	____ 24.	"Risk factor" is a term most closely related to geocentrics. 


	A)	True   B)  False








	____ 25.	The simplest organisms belong to the kingdom Monera. 


	A)	True   B)  False








	____ 26.	AIDS is caused by a bacterium. 


	A)	True   B)  False








	____ 27.	Anabolism is a process of building substances in tissues. 


	A)	True   B)  False








	____ 28.	Metabolism is the ability to respond to a stimulus. 


	A)	True   B)  False








	____ 29.	Asexual reproduction is common in single-celled organisms. 


	A)	True   B)  False








	____ 30.	Sexual reproduction produces variation among organisms. 


	A)	True   B)  False








	____ 31.	Protistans are more complex organisms than Monerans. 


	A)	True   B)  False








	____ 32.	Humans, unlike other organisms, have culture. 


	A)	True   B)  False








	____ 33.	The scientific method is so complex that only trained scientists can use it. 


	A)	True   B)  False








	____ 34.	A theory in science has more validity than a hypothesis. 


	A)	True   B)  False








	____ 35.	The "control group" in an experiment is the one that is manipulated. 


	A)	True   B)  False








	____ 36.	An example of a "risk factor" is the smoking habit. 


	A)	True   B)  False








	____ 37.	Sexual reproduction can involve the union of an ovum and a sperm. 


	A)	True   B)  False








	____ 38.	Uncertainty in science is not tolerated by good scientists. 


	A)	True   B)  False








	____ 39.	Critical thinking does not involve judgmental behavior. 


	A)	True   B)  False








	____ 40.	Redi offered convincing evidence for the occurrence of spontaneous generation. 


	A)	True   B)  False








	41.	A(n) ________ is a biological system containing organisms and their environment. 








	42.	Homeostasis is a(n) ________ state, meaning that a characteristic can fluctuate within a range. 








	43.	An out-of-shape person with high cholesterol who is a smoker could be said to have many ______ factors. 








	44.	Populations change through time by the process of ________. 








	45.	Irritability is the capacity to perceive and respond to _____________. 








	46.	___________, not individuals, are capable of evolving. 








	47.	Human body temperature is fairly constant at ________ degrees Fahrenheit. 








	48.	Humans are unique because they have the values of their______. 








	49.	In the scientific method, an experiment is performed to test a(n) _______________. 








	50.	Budding is an example of _____________ reproduction. 








	51.	A(n) ____________ group in an experiment is treated the same as the experimental group, except for the experimental variable. 








	52.	Sexual reproduction produces more genetic ________ than asexual reproduction. 








	53.	The sum total of chemical reactions that occur in an organism is called ______________. 








	54.	From the study of ________, the interconnectedness of living organisms is understood. 








	55.	By critical thinking, one questions the conclusion derived from ________. 








	56.	How does the human body use most of its energy? 








	57.	Define "homeostasis" in the human body. 








	58.	Provide some examples of environmental risk factors that have adverse effects on homeostasis in ecosystems. 








	59.	Name three features that separate humans from other animals. 








	60.	During evolution, what did protistan ancestors produce? 








	61.	What is environmental homeostasis? 








	62.	What is the relationship between the frequency of high blood pressure and the occurrence of heart attacks in human populations? 








	63.	What is the difference between a "hypothesis" and a "theory" in science? 








	64.	An experiment was conducted to test the effects of a high-protein diet on the ability of chickens to lay eggs that have a high-protein content.  Ten chickens were obtained from three chicken-breeding farms (all were hens), and their diet consisted of a mixture of fish, cheese, and soybeans.  Eggs produced from this group of chickens were found to have a slightly higher protein content than eggs purchased at a local grocery store.  From this, the investigator concluded that the diet fed to the chickens was responsible for the protein increase in the eggs.  How would you analyze these results, using critical thinking? 








	65.	Match each term on the left to an appropriate association on the right.


		


			___ monerans	A. theory of evolution


			___ dynamic equilibrium	B. kingdom


			___ hypothesis	C. homeostasis


			___ control group	D. irritability


			___ risk factors	E. scientific method


			___ natural selection	F. health


			___ protistans


			___ perception of stimuli 
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	1.	E	





	2.	A	





	3.	C	





	4.	D	





	5.	A	





	6.	D	





	7.	C	





	8.	A	





	9.	C	





	10.	D	





	11.	D	





	12.	B	





	13.	A	





	14.	C	





	15.	D	





	16.	D	





	17.	A	





	18.	E	





	19.	B	





	20.	B	





	21.	B	





	22.	A	





	23.	B	





	24.	B	





	25.	A	





	26.	B	





	27.	A	





	28.	B	





	29.	A	





	30.	A	





	31.	A	





	32.	A	





	33.	B	





	34.	A	





	35.	B	





	36.	A	





	37.	A	





	38.	B	





	39.	A	





	40.	B	





	41.	ecosystem 





	42.	dynamic 





	43.	risk 





	44.	evolution 





	45.	stimuli 





	46.	Populations 





	47.	98.2 





	48.	culture 





	49.	hypothesis 





	50.	asexual 





	51.	control 





	52.	variation 





	53.	metabolism 





	54.	ecology 





	55.	facts 





	56.	About 70 to 80 percent of the energy is required for maintenance of the body through processes such as cell transport. 





	57.	Homeostasis is a state of relative constancy in the human body (i.e., body temperature) that is achieved through a variety of mechanisms that compensate and maintain optimal values for body temperature, blood glucose concentration, etc. 





	58.	Some examples are pollution, overgrazing, and deforestation. 





	59.	Three features are culture, the ability to change the environment, and the ability to think critically. 





	60.	The fungi, plants, and animals evolved. 





	61.	This is the achievement of balance in the environment through homeostatic mechanisms. 





	62.	A person who develops high blood pressure has a greater chance of experiencing a heart attack. 





	63.	A hypothesis is a tentative explanation for something that may or may not be proven correct by one or a few tests; a theory is a broad generalization of science that has withstood repeated testing (although it is still subject to modification). 





	64.	Most of the objections to the validity of these results would probably involve the experimental methodology: no control group; different genetic backgrounds of the chickens used in the test; the parts of the diet not being separately tested; and small sample size. 





	65.	B, C, E, E, F, A, B, D
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